Two firms at the St. Louis airport have franchises to carry passengers to and from hotels in downtown St. Louis.  These two firms, Metro Limo and Urban Limo, operate twenty passenger vans.  These firms cannot compete with price, but they can compete through advertising.  Each firm has two strategies available: maintain current advertising or increase advertising by 15%.  Their payoff matrix is below:

	 
 
 
	 
	United Limo

	 
 
 
	 
	Increase 
Advertising
	Don’t Increase
Advertising 

	Metro Limo
 
 
	Increase
Advertizing
	$25                      $15
 
	$30                          $0
 

	
	Don’t Increase
Advertizing
	$15                      $20
	$40                          $5


The entries in the individual cells are profits measured in millions of dollars.  

a. 
Does each firm have a dominant strategy?  Why or why not?  You must support your explanations by including  numbers (payoffs in dollar amounts)  
b. 
Carefully explain the strategy that should be used by each firm.  You must support your explanations by including numbers (payoffs in dollar amounts)  
